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Hm: METE XA
el MERE ESEY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 50,000 20,000 30,000
01 Al&H| 50,000 20,000 30,000
OALIREHMNS LA 50,000
e =382 A 6,241 6,241 0
= 3,125
= 933
Al 2,183
401 Al HIZ 2018 6.241 6.241 0
= 3,125
& 933
Al 2,183
01 Al&HI 6,241 6,241 0
Oatd ol E 212t ALE 6,241
= 3,125
== 933
Al 2,183
AZALS (SHEE XIR) 49,715 73,048 N23,333
403 AXIEHMSAH=0IH 49,715 73,048 N\23,333
02 SIS0t =S A AIEHI 49,715 73,048 N23,333
OAtZ A 49,715
SHATEHEE MRS XI S AEH AL 8,594 9,100 A506
= 4,297
& 1,289
Al 3,008
401 Al HIZL 201 8,594 9,100 A506
= 4,297
< 1,289
Al 3,008
01 Al&H| 8,594 9,100 506
OALIAIEHE MR A KIS AEHZSAL 8,594
= 4,297
=S 1,289
Al 3,008
AEMHIAER0l 2 X2 (==& ZCIUI0IH) 22,906 21,986 920
= 11,453
=S 3,436
Al 8,017
101 ©1AH| 22,906 21,986 920
= 11,453
= 3,436
Al 8,017
04 JIZtN22 XS 2+ 22,906 21,986 920
O==¥ ROUIOIEH 2< 22,906
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=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

Al 73,278

401 AIEHIX 20 209,368 162,722 46,646
= 104,684
= 31,406
Al 73,278

01 Al&H| 208,217 161,571 46,646
OZEX, =20, (RILIRIHR| 208,217
= 104,109
& 31,233
Al 72,875

03 A2 THYI 1,151 1,151 0
OZEX, =20, (RLIRIHR| 1,151
= 575
& 173
Al 403

OIMIZHA M2 S S2A=I0t] 216,956 216,960 av3
= 108,478
< 32,543
Al 75,935

401 AlZHIZL SO 216,956 216,960 Yavi!
= 108,478
== 32,543
Al 75,935

01 Al&H| 215,623 215,624 A
OUINEX M& S SA=IHI| 215,623
= 107,812
=S 32,343
Al 75,468

03 A& CHYI 1,333 1,336 A3
OUINEX M& S SA=IHI| 1,333
= 666
=S 200
Al 467

R0t US29Y 343,992 317,712 26,280
= 171,996
=S 51,599
Al 120,397

201 et 3| 6,000 317,712 A311,712
= 3,000
= 900
Al 2,100

01 AtR2t2|HI 6,000 317,712 A311,712
OR0lzx N2 6,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 3,000
=S 900
Al 2,100
401 AIEHIZ R 0HYI 337,992 0 337,992
= 168,996
= 50,699
Al 118,297
01 A28l 335,992 0 335,992
20l N2 335,992
= 167,996
= 50,399
Al 117,597
03 A& THYI 2,000 0 2,000
R0tz US29Y 2,000
= 1,000
= 300
Al 700
ROI=HE2 29 50,000 50,000
201 et 3| 11,000 11,000
01 AtR2tc|bI 5,000 5,000
OROl=xHEd 24 5,000
02 S5=24g4l 6,000 6,000 0
OROt=HE R 2ACINRA 2 6,000
401 AlEHIZ 2018 39,000 39,000
01 Al&H| 39,000 39,000
OROl=MEH A2 39,000
SOI=MER ZEAMS(HEAIY) 200,000 100,000 100,000
s 100,000
Al 100,000
401 AIEHIZ SR OHYI 200,000 100,000 100,000
[ 100,000
Al 100,000
01 Al&HI 200,000 100,000 100,000
FOt=MEd ZgAY 200,000
= 100,000
Al 100,000
SHEsE32t 4 & 2] 200,000 200,000
401 AIEHIX R0 200,000 200,000
01 A28l 200,000 200,000
ottgsada2t &9 2 2¢el 200,000
tAE S BH0IE S’ LY 4,700,000 2,600,000 2,100,000
[ 3,000,000




2A:

X XH -
o=

el =X 2y 2 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2

Al 1,700,000

401 A& B2 20HY| 4,700,000 2,600,000 2,100,000
= 3,000,000
Al 1,700,000

01 Al&HI 4,695,000 2,595,000 2,100,000
OStEE stdi2 33X YH 4,695,000
= 2,995,000
Al 1,700,000

03 Al CHYI 5,000 5,000 0
OtME S S0t BRZTH 5,000
= 5,000

MEA =2 HH| AFSE(XEAIY) 400,000 0 400,000
T 200,000
Al 200,000

401 AlEBIZ 200 400,000 0 400,000
& 200,000
Al 200,000

01 Al&HI 400,000 0 400,000
OMEd =2 Ul At 400,000
T 200,000
Al 200,000

SSAEIIRD| 24,930 289,893 A264,963
= 12,690
& 3,672
Al 8,568

101 2124l 23,880 254,384 A230,504
= 11,940
& 3,582
Al 8,358

M IIZINZ2 2SS ES 23,880 254,384 A230,504
OLHH R ALEE C124H| 2 B = 23,880
= 11,940
& 3,582
Al 8,358

201 B2 AY| 1,050 33,509 A32,459
= 750
= 0
Al 210

01 AtR2telt] 450 29,709 A29,259
(O = PN YN M E=1:] 450
= 450

02 2224l 600 3,800 A3,200
OKE XA T ALEE EHHIFAIH 2 XIHERFH 600




SN MDA
M ARITIR A
el =X 2y 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 300
=S 0
Al 210
=l MESXE2Y 2 2 N 57,332 52,952 4,380
= 28,666
= 8,600
Al 20,066
401 Al HIZ R OHHI 57,332 0 57,332
= 28,666
= 8,600
Al 20,066
01 A28l 57,332 0 57,332
=oll&lt 2 57,332
= 28,666
= 8,600
Al 20,066
StE =Al2 260,000 261,800 1,800
401 AIEHIX 20HH 260,000 260,000 0
01 AlZ2H| 260,000 260,000 0
o8tz RXl2el 260,000
CHe =9 30,000 30,000
401 AIEHIZ R 0HYI 30,000 30,000
01 Al&HI 30,000 30,000
O+ dFaZHd 30,000
254 2l 10,640 10,640 0
= 3,192
Al 7,448
401 AlEHIZ S 0HYI 10,640 10,640 0
= 3,192
Al 7,448
01 A28l 10,640 10,640 0
234 2 10,640
s 3,192
Al 7,448
FUENE Ea+ FH FAS2 Zd(E FO0lla 15,000 0 15,000
= 15,000
401 Al HIZ S OHbI 15,000 0 15,000
s 15,000
01 Al&HI 15,000 0 15,000
O=2UHME B4 =¥ FAI2 &4 15,000
= 15,000
AXF2E BEH! & |XAl2el 22,000 0 22,000




2A:

3 MY =
el =X =4 2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 22,000 22,000
01 Al&H| 22,000 22,000
OMXIF=ZE DBEHl & =Xl 22,000
CASE gl 27,636,909 23,122,543 4,514,366
< 1,225,000
Al 6,411,909
H 20,000,000
CASEEE 27,636,909 20,137,543 7,499,366
s 1,225,000
Al 6,411,909
H 20,000,000
AT D EHorsh by & B3 2 3,432,000 2,832,000 600,000
201 fer23| 10,000 10,000 0
01 AtR2t2|HI 10,000 10,000 0
O3 Hot 0 Hotet Ay 2 S3 2| 10,000
206 M=l 20,000 20,000
01 M= HI 20,000 20,000
OEAISE 22 HP+ 10,000
O3S SAtED S ) =5 & &
gl 10,000
401 AlZHIZ S 0HbI 3,402,000 2,802,000 600,000
01 Al&H| 3,400,000 2,800,000 600,000
O3 Aot 0 Hotet Ay 2 S3 2| 3,400,000
03 AlESTHYI 2,000 2,000 0
O3If Aot Eetet &g 2 SE 22 2,000
HizS2A ANg2delst HES 506,909 444,743 62,166
309 HES 486,909 418,743 68,166
01 SAL- SHEYTES 486,909 418,743 68,166
OHISH AIE2Y XI& 486,909
404 SAEBEH = ES 20,000 26,000 26,000
01 SAt- SHAZ2NES 20,000 26,000 26,000
OHASH AlE X&H 20,000
II0IEE TAISE ALRXA 0HEY 20,003,000 15,005,800 4,997,200
Al 3,000
H 20,000,000
203 =4l 3,000 1,800 1,200
03 A=A 2= 3,000 1,800 1,200
OO0 TAISE A=Al 0 3,000
401 Al HIZL 201 20,000,000 15,004,000 4,996,000
H 20,000,000
01 AlZ28| 19,990,000 15,000,000 4,990,000
OFII0IZY TAISE A=l OHE 19,990,000
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MEE
Ofl &k2h

4,000
150,000
150,000
150,000
110,000
110,000
110,000

1,505,000

4,500

1,590,500

1,595,000

Ofl &F2H

10,000
10,000
10,000
150,000
150,000
150,000
150,000
20,000
20,000
20,000
20,000

19,990,000
1,145,000

XH

4,500
4,500
4,500

940,500
200,000
2,000,000

200,000
1,140,500

1,140,500

200,000
945,000

1,145,000

945,000

H

2,000,000
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50,000
50,000
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80,000
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o
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401 AIEHIZL R OHYI

d

&lsH

03 Al = THHI
01 AtR2telbl

oFJI0|
01 AlZHI

Kl

01 AlZHI
03 Al S CHYI

401 AIZHIZ 20

Q= ChH|

=

01 Al&H|

401 Al&HI

1of

[gd]
[0
KJ
or

=2
S

01 AlZH|
OZLHIIM~A

401 AIZHIY 20

)
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e
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100,000

100,000

50,000
50,000
50,000
100,000

100,000

100,000

D, 242
Ab, 242
Nb, 242
A1,472
A1,472

A3, 170
A3,170

2600
AB600

MEE
Ofl &k2h

49,782
49,782
49,782
30,052
28,552

1,500

16,130
16,130

3,600
3,600

Ofl &F2H

iy

100,000
100,000
100,000
100,000

Iy

100,000
100,000
50,000
50,000
50,000

H

50,000
100,000
100,000
100,000
100,000
100,000

W

H

100,000
100,000
44,540
44,540
44,540
28,580
27,080

iy

12,000
10,080
5,000

1,500
1,500
12,960
12,960
12,960
3,000
3,000
3,000
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- SRA(E) - HIRAY

S - B

401 AIEHIZ 20

01 Al=Hd

K0
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401 AIZHIY 20
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01 Al=Hd

=3% U
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01 Al

01 At22telbl
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Mo
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